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To start slideshow of a presentation

(A) Press F5 key

(B) From slideshow menu choose view show
option

(€)  From slideshow menu choose rehearse
timing
Either option {A) or option (B)

2. Which of the following is used by banking

industry to handle large volume of cheques ?

(A) Digitizer

MICR
(C)  Barcode reader
(I  Captcha

Choose the correct option according to the
ascending order of storage capacity :
CD-RW = D\»’D < Blue Ray Disc < Hard

Disk

(B) CD-RW < DVD = Hard Disk < Blue Ray
Disc :

(C) CD-RW=< Blue Ray Disc < DVD < Hard
Disk

(D)  DVD < Blu Ray Disc < Hard Disk < CD-RW
Select the most appropriate option related to
toggle keys ¢

(A) Caps Lock

(B) Num Lock
(C) _ Scroll Lock Key
All of these

What is the main purpose of adding header and
footer in a document ?
(A) To improve the view of a document

To mark the start and end of the page
(C)  To make a large document more readable
(D)  To email the document
? - are the processes managed by the Search
Engmt:
(A) Mail merge, compose and draft
(B}  Star, bus and mesh
(€) _ Mini, micro and mainframe

Web crawling, indexing and searching
Which of the following represents the protocol
in the URL *hutp;/ . .ac.in’ 7
(A) vmou
(B) .acin
©)  www.vmou.ac.in
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8.

11.

12.

Which of the following is the primary law in India
related to eybercrime and e-Commerce 7
India IT Act, 2000

(B} India Computer Act, 2012

(C) India Cybercrime Act, 1989

(M) India e-Commerce Act, 1991

You can use social media from the computer

using :

{A) Documents, Excel, PPT etc.

(B)  YouTube, Google play, Outlook etc.
Facebook, Instagram Twitter etc.

(D)  SSO,PRSY, LPGetc.

It is better to copy a file from a CD to a hard disk
and then open the copy on the hard disk because :
(A) A CD is easily moved from one computer
to another.

(B) You can store more on a hard disk.

{C)  The computer cannot open a file stored on
a Ch.

Reading a hard disk is much faster and
safer,

What do we call the dots that compose the image
of a digital photograph 7

Pixels
(B) Resolution points
(C)  Digital points
{D} Points
Statement 1 : NVSP allows voters to correct
their voting entries online.
Statement 2 : TRCTC helps users with online

railway reservation services.

Choose the appropriate option from the following :
(A) Statement | is correct and statement 2 is
incorrect.

Statement 1 is incorrect and statement 2 is
correct.

Both statement | and statement 2 are
incorrect.

Both statement | and statement 2 are
correct.

(B)

(©
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b3, s function counts that cell which is not
blank in MS Excel 2019,

(A) COUNTD

(B) _ COUNTBLANK()
el COUNTAQ

Dy VLOOKUP)

14.  The cell reference for a range of cells that starts
in cell Bl and goes over to column G and down
torow 10 is :

(A)  GIGID
(B) BILGIO
©) _ BL:GIO

BI:GIO

15. What happens when you edit a image already

inserted in PowerPoint 7
Source file which was pre-inserted does not
change

(B)  Source file which was pre-inserted can
change

(C) A presentation when saved is converted
into the source file

(D)  None of these
16. The following applications are primarily used to
create spreadsheets :
(A) _ Google Sheets. MS-Excel, Libre-Impress
Google Sheets, MS-Excel, Libre-Calc
(C)  Google Sheets, MS-Access, Libre-Calc
(D) Google docs, MS-Excel, Libre-Cale

17. What key do you press to make the number pad
act as a directional arrow ?

(A)  Arrow lock

(B) Caps lock
JEr” Num lock
(D)  Shift

18.  In MS-Excel 2019, the top left most cell has the
address :

A& Al

(B)  www.vmou.ac.in
(C) AZ
D) 1A
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R is a file that stores data in a tabular

format using commas to separate values and
newlines to separate records, It is commonly used
for spreadsheets.
N
(B) DBA
(C)y DoC
@ PG
SS0 ID is related to :
{A) Facebook
B) IRCTC
M E-Mitra
D) Gemail
What is the function of Recycle Bin ?
M Store Deleted File
(B)  Store Temporary File
(C)  Store Corrupted File
(D)  Store Document File
ICT stands for :
(A}
(B)
\J€7 Information and Communication Technology
(D)
Presentation is a collection of :
{A) Charts .
B) Workbook
(C) Worksheets

@) Slides

24. The primary purpose of a computer is to process

20.

11.

2L
International Communication Technology

Intra Common Terminology

Interconnected Terminals
23

cesvesesenennes @Nd convert it into information.

(A) Electricity

B~ Data

{C) Raw material
Water

Lo}
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25.

26.

27,

28.

29,

ss=ssesessrens 18 @0 Impact printer and ............, is a

Non-Impact printer.
Dot-matrix printer, Inkjet printer

(B)  Laser printer, Dot-matrix printer

(C) Inkjet printer, Laser printer

(D)  Inkjet printer, Dot-matrix printer

Which of the following statements are true for

RAM and ROM 7

(ii  ROM is Real Optical Memory

(i) RAM stores the instructions you are
currently working on

(iiiy ROM stores the BIOS

(ivi RAM allows the user to read and write data

(v) RAM and ROM lose their data when the
power is turned off.

Choose the correct answer from the options given
below :

(A) _ (i), (iv) and (v) only
(ii), (iii) and (iv) only
{C) (i), (ii) and (iii) only
(D) (i), (iv) and (v) only
.................. is a system which has been designed

to transmit information from electronic musical
instruments,

(A) OCR
MIDI

(© MICR
(D) RIGS
cosssssssnssnens 15 USEd 10 collect information and create
analyse survey.
(A). Google sheets

) Google forms
(C) Google docs

®)  Google draw
Which of the following is an example of an input

devige 7

OCR
(B)  Line printer
(C) CRT Monitor

(D) Speaker
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30,

<

32

a3

35

vvscscinnes 15 the area in Windows 11 that contains a
background picture (wallpaper), icons and the
taskbar.

(A) Computer Boot
(B) - System Tray
Deskiop
(D) lcons
................... tab has options such as home, insert,
layout, reference, etc, in MS-Word 2019,

(A) Status
Ribbaon

(C) Title

(D)  Seroll bar

What is the full form of UPI ?

(A) Universal Payment Interface

(B)  Ultra Payment Input
Unified Payment Interface

(D)  Unstructured Payment Invoice

Which of the following is not the benefit of Online

Banking 7

(A) You can use it anytime (24=7).

{B) It takes less time than others.

{C) It rransfers the money instantaneously into
the receiver’s account.
You can demodulate and modulate the
system.

Select the correct matching option from the table

given below :

E-commerce scenarios Example

L " BIC F.  www.ehay.in
I B2B ><q india.alibaba.com
m C2c R. www.amazon.in

(A) I, I-Q, MR
B) 1Q IR II-P
(© _ P, [-R, IM-Q

I-R, 0-Q, Im-P
Which of the following is known as Digital
Document Manager, aims to provide a facility for
validating official documents and certificates 7

(A} NPTEL

(B) Raj e-Gvan
Raj e-Vault
(D) Coursera
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Four alternative answers are mentioned for
each question as (A), (B), (C) and (D) in the
Question Booklet. The candidate has to
choose one correct answer of the guestion
and mark the same in the OMR Answer-Sheet
as per example given below :

For Example :
Question :

1 0@ ® © ©®
2 ® ® @ ©

Illegible answers with cutting and over-

writing will be cancelled.

In case the Candidate does not fill the
appropriate circle in the Answer-Sheet and
leaves blank, ‘Zero’ mark will be given.

The candidate has to mark answers carefully
as per instructions on the OMR Answer-
Sheet with black or blue ball point pen only.

Strict instructions are hereby given to the
examinee to refrain from correction of their
earlier marked answer in OMR by rubbing or
scratching or using white fluid. In case of
violation of this instruction, examinee’s
result may be detained or the examinee may
be declared disqualified in the exam.

The examinee shall hand over original OMR
Answer-Sheet to the invigilator and can take
carbon copy of the OMR Answer-Sheet and
Question Booklet with himself/herself.

‘Write your Roll Number and other required

details in the space provided on the title
page of the Question Booklet and on the
OMR Answer-Sheet with ink pen or ball pen.
Do not use lead pencil.

10. To bring and use of log-book, calculator,

11.

pager and cellular phone in examination hall
is prohibited.

All the questions are bilingual. In case of any
discrepancy the guestion in English version
shall be treated as correct.

Set-B (Oct. - 2024)

4,

10.

11.

WA -ferT & Yol WeA % = qefEd 3w E—(A),
(B}, (C) & (D) 1 witeneff = =i famwedi & @ vw
T T F 9T F 3 OMR FH-u d fvren
fafien %11 390 1 OMR F9-99% ¥ wwafag wee
e vEn w ¥k ;

g

W

1 @ © @

2 ® ® @ ©

7fam 3wt &1 U8 3w for e wgen ¥, from
w1 fad 9 |

7fg gl OMR sav-wsah d 3uge et 1
v & 3T OMR T9R-99% %1 &re org 2 ¥, W
‘¥’ % weE e W)

Aol F1 ¥ % 390 OMR I-UFF T HTT
w1 77 Ao 9fer =z 1 & Fevaan dtes w0
Ll

witenel %1 @ e feu o E f% 9% @197 OMR
F-gaw # g A fan o I F 9ot & fo, frerd
71 w2 & feu Wk g8 1 309G 46 w0 9 .
ey #1 sEger ®t ot & @ wivenedf = afoms

T W Hehell € 1 39 QOe H sy it fma e

wFa ¥

witgndf @t wftgn waw orgF § gd OMR
A (qF ufe) wfErd v e | sy Fige
& UTH WHT AT GO A9 OMR I9T-U9E i
e i Aur wee- gt 3 e o 1 G
i

weA- it # @ 7% T 99 OMR F-TH6 T
Fruifta wom & srwoTs aw o= fam &% 9 W
el wrz 3 | & i | o s A =)
witen ® e § A-9, hemee, T 99 SRR TR
B W1 A9 IHE 3T O At i

it we fpwfess # 1 afE fedt wes-gfe § sfirsh
#n fet srqam = fy=rm o ol &, & i
HAARE ¥ W=




